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EXPLANATION

Qn.1

Answer: B
Explanation:

o Fixed assets can be tangible (like equipment) or intangible (like patents).

o Most fixed assets depreciate over time due to wear and tear, except land, which generally
does not.

Qn.2

e Answer: 4) All of the above

Explanation: The ATACMS is a surface-to-surface missile system with a range of up to 300 km.
It delivers high-precision strikes and supports various payloads, including cluster munitions.

ATACMS is launched from platforms like HIMARS and the M270 MLRS. It is used for attacking
ground targets, not for air defense. Countries like the U.S. and South Korea deploy this system

Qn. 3

Correct Answer: a) 1 and 2 only
Explanation:

e Correct: Storm Shadow is an air-launched cruise missile with a range of over 500
kilometers, primarily used for precision strikes against high-value targets.

o Correct: It incorporates stealth technology and a BROACH warhead capable of deep
penetration into fortified bunkers.



e Incorrect: Storm Shadow was developed collaboratively by France and the United
Kingdom, not the United States.

o Statement 3 is correct: SRs issued by NARCL are backed by a government guarantee of
Rs 30,600 crores, valid for five years.

Qn. 4
Answer: b) Only 2 and 3 are correct
Explanation: GRB does not propose separate budgets for women but integrates a
gender perspective in the overall budgetary process to address inequalities and ensure
inclusivity.

Qn.5

Answer: b) Gender equality and the empowerment of women

Explanation: The Beijing Declaration aims to address gender inequality and empower women
globally by taking comprehensive action in various fields.



